1. 37 AMy=—x+6, y=x+6, x =22 EH =] Hol&
Fotolet,

D
=%



A WAy =2 —rby =4 204y = 6 9] T2 Fejual

2xo] Yol

N
®
I
®)
|
®
|

@



A 2 RS AU O AR y = ax— 1] Stk o] BHE
%0 WO 2 b B3 YT H (. o) B AW 1 D47
F7H AU g AR
(& f(p) - f(q) ~3)

pP—q
© A 1Ak @ A 24159
® Al 3AEH @ A 4ArEH

© Al 3ARZHI A 442



=
AT k 3t WS Fobu?

G| =t =

IA
Pl

O] =



5 A4 ax—2y =2 9 bx+y = -19] 17} AT of, AFTH A
bx—y=2,ax+2y=-1°s}& F3stofzt. (F,ab#0)

S

@D a=-2,b=3 @ a
@ a=0b=2
® si7t gitt.



52 1o

ol

AFeto] = A4 3x+ay = y+3, 2x+5y = a—b O] WHO| T

= M, a- b2 k2 F5tof=th

Jul

D S
=%

[¢)

3]



A ax+y+b=02° ZAZ7L = H (p,5),(4,-3) = AL 7=

717}% o o, p o] < Latolel.

D
=%



9y — =

@ y=

@ y:§x+5

1
®y=2x+§
@ y=3x+5

——x-10

®y=



T2 19 9] 2AHZ ABCD oA AB = 3,
AD =40]1, # P7} DE &%ste] C, B, A
A2 A7 A A AYE
x, AADP 9] Ho]& ygt st yE x & Ao
2 Uetdo] I #A A O nE HEYH
ol a2 o, o] Zgfmet xFHo 2 FeAl
L9 ylo]& Hotofet.

R
=%




10.

T

rok

2 gE O g0 I

94

M)

Z0]7} 8cm @l SR gABCD 9] gt

Ol

A BAMCE AP/ 2H Tom 2 3]

R

a}

[e)

=2

4 rr

kil
W, x% ¥ A12kg ABPD €] {ol & yom?
SFH, x 9] W91 a < x < b, F57]

c<y<doltt. oltf, a+b+c+d9
stofet. (¢, BE=6cm )

D R
=%



